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Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 12 and of Part-II are 35.

o P G F T B G 5 99799 § GRa g2 8 oy 47 12 8

Please make sure that the printed pages in this question paper of Part-I are 8 in
number and it contains 12 questions.
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(2) 5629/(Set : A)
® G97-g 4 alie7 &1 &l GlIT 7Y T FIe TEY Fel Qe F 5 TACYdH & JEH-J YT [rdE]

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

o FYF FIT F FA [T & HNT T Yeer, FeT H HHE ST [

Before beginning to answer a question, its Serial Number must be written.
o JUCYRTH % dF T @l g1/ G T 8is

Don’t leave blank page/pages in your answer-book.

o FUTYRaE & SR i o e T A o SEvEdgar & i@ e frar sav T
FIC]

Except answer-book, no extra sheet will be given. Write to the point and do not

Sstrike the written answer.
o GRS 1T U To FIT-GH GT 37F9T @)

Candidates must write their Roll Number on the question paper.

o U F97 F FAT &7 @ g7 I8 GARTGT Y A [ G797 §U T Fel 8, YT F YU 39
T § Bl A qar @ TE B A

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G (7397 -
General Instructions :

() & 97 ST &

All questions are compulsory.
(i) HEAF FoT B F I TET T T 8

Marks of each question are indicated against it.

(i) 797 G@ 1 @ 5 7% SIqg FTNT 97 81 JE9F 7 2 S B &1 HAB J97T F IV
TTHT 30 9= F dfory
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(3) 5629/(Set : A)
Question Numbers 1 to 5 are very short answer type questions of 2 marks

each. Answer these in about 30 words each.

(iv) 997 @& 6 @ 10 % T FTUT 597 &1 J9% F97 3 G & 81 JA% F97 F FAT
TTHT 40 = 7 o

Question Numbers 6 to 10 are short answer type questions of 3 marks each.

Answer these in about 40 words each.

(v) F97 T&r 11 §F 12 FF GThT 597 &1 J&9% J97 5 F F &1 F9F 97 F IAT
TTHT 70 9] 7 o
Question Numbers 11 & 12 are long answer type questions of 5 marks each.

Answer these in about 70 words each.

(i) F97-97 § T &Y @ 3 [y 78 &1 a5 o/E g g Fwhg ged g
STARF 797 FaI7 T T &1 07 7971 & @ oy @a @ & 597 Her &

There is no over all choice. However, internal choice is given in all long
answer type questions of 5 marks each. You have to attempt only one of the

given choice in such questions.

[ SrfereTg SGF 99 ]

[ Very Short Answer Type Questions ]

1. T@ B & WS & hep S% a1 & IR O A & G 2/3 Iehasd Rkl &t
WA Bl A AR B &) &1 a Al & G 0 8 ? 2

Atoms of element B form hcp lattice and those of the element A occupy 2/3 of

tetrahedral voids. What is the compound formed by A and B ?

5629/(Set : A)/ | P.T.O.
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(4) 5629/(Set : A)

2. T& JIgd IFSUECH & 1.00 g H 50 g I~ # Hd W 36 oA § 0.40 K &l FHI
B I B I 1 fBHie oraEe R 5.12 K kg mol ! Bl 9T #1 AaX sHUN
Sa i 2

1.00 g of a non-electrolyte solute dissolved in 50 g of benzene lowered the
freezing point of benzene by 0.40 K. The freezing point depression constant of

benzene is 5.12 K kg mol~!. Find the molar mass of the solute.

3. IR T B T P o9 1.25 g mL ' B T SHY 92 g Na' o+ w9 R @ H
Juierd B, @ 3 H Na© STE 1 Hicadr s i 2

If the density of lake water is 1.25 g mL ™! and contains 92 g of Na* ions per

kg of water. Calculate the molality of Na* ions in lake.

4. S FHifc H FAEED F AT ReRi®H 200 sec™ & gy H T Hifw 2

Calculate the half life of a first order reaction from rate constant 200 sec !.

5. Ifsug dAfcmEe dauer siffhar F#m B ? 2

What is Gabriel Phthalimide synthesis reaction ?

[ @Y STE 999 ]

[ Short Answer Type Questions ]

6. Ni(NO3), & Th [ & @ife™ Iodgisl & a9 5 UREY & g1 SEmed &Xd 8¢
20 fee 9% fagq owEes fRar M Ni @ Rea AET e oX Fafe @ 2 (vi%%7) 3

A solution of Ni(NOgz), is electrolysed between Platinum electrodes using a
current of 5 amperes for 20 minutes. What mass of Ni is deposited at the
Cathode ? (Ni®87)

5629/(Set : A)/ |
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(5) 5629/(Set : A)

7. SO U9 SARREN G F® A & 7 TO% Bl §F0% Saell i) 3

What are lyophilic and lyophobic sols ? Give one example of each type.

8. FHROT A U W HIY FHATT QL AR: TN AR it 517 3

Explain giving reasons 'transition metals generally form coloured compounds'.

9. 1 Bl B I : 1x3=3

What happens when :

() ned TGS H Teheld KOH & A1 Rk 6 S 8 7
n-butyl chloride is treated with alcoholic KOH ?

(i) 9 3R H IURART & S & ABR F=iReT & 8 & ?
Bromobenzene is treated with Mg in the presence of dry ether ?

(il) o 3R A SURART F TR siEs A AR AfeTH & Bl B 7

Ethylbromide is treated with Na in the presence of dry ether ?

10. TSN & i St § TN W w @l ket i 3
Write the mechanism of acid dehydration of ethanol to yield ethene.

[ €Y ST 9 ]

[ Long Answer Type Questions ]

11. (a) Cl, %I fa¥s Bha1 &1 HRET TAEY 1

Give the reason for bleaching action of Cl,.

5629/(Set : A)/ | P.T.O.
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(6) 5629/(Set : A)

(b) T BT & S SO, @ Fe(lll) T@°T & o e & € Jaied &Xd & ? 2

What happens when SO, is passed through an aqueous solution of
Fe(Ill) salt ?

() RGN & STHMNI AR Hl AT HifT| 2

Describe anomalous behaviour of Nitrogen.

YqT

OR

(@) T 16 & d<@l ® eBIBSI B AU AT B HH B [WRET 2
Write the order of thermal stability of hydrides of Group 16 elements.

(b) =TT FHIHN Bl T Y 1x3=3
(i) PbS+40;5 —
(i) 8NHgz(excess)+3Cly —

(iii) Zn+4HNO; (6i&) —
Complete the following equations :
(i) PbS+403 —

(ii)y 8NHjz(excess)+3Cly —

(iiif Zn+4HNOg3(conc.)—

5629/(Set : A)/ |
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12. (a)

(b)

(©)

(7)

3-BRgIFICT | TS SRT

Draw structure of 3-Hydroxybutanal.

e stffear @ amen Sk

Describe Cannizzaro reaction.

HE VTSl U9 Bl AREAT PN

Describe Cross Aldol Condensation reaction.

YqT

OR

CH3COCH5 1 & ifiisban &% a1 I & 7
() NH,OH
(i) HCN

(iiiy NH,NHCONH,

5629/(Set : A)

1x3=3

CH3COCH3 on reacting with the following will give what product ?

() NH,OH

(i) HCN

(iiiy NH,NHCONH,

5629/(Set : A)/ |
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(8) 5629/(Set : A)
(b) FfcReT TfHishaetl & SME WRdT : {14129

: CO,HCl
(i) e

feta alcis
cocCl

.. Hoyp
(i1) —=
Pd—-BaSO4

Write the products of the following reactions :
n [::] CO,HCl
Anhyd. AlCl3
coci
Hp

(ii) —_—
Pd—BaSOy4
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CLASS : 12th (Sr. Secondary) Code No. 5629
Series : S.S.-March/2022

Roll No. SET : A
LGRS RCE G

CHEMISTRY
HAT - 11
PART - II

(g 9%)

(Objective Questions)
ACADEMIC/OPEN
[ o=l wd sl A |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

o FUT FT F T [ I % 39 Je797 § FRT §T 8 79T 797 35 &1

Please make sure that the printed pages in this question paper of Part-II are 8 in
number and it contains 35 questions.

o gheEreff o1y T To FIT-UH T 9T [or@)

Candidates must write their Roll Number on the question paper.

o YT 49 1 FUY 37 @ (@ 98 FrRad &Y I [ geT9F {7 T &l 8, TOEr # IIT 59
G § Fig 4 @@ &@hwre Tl A aam

Before answering the question, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

General Instructions :
() @ g7 art &

All questions are compulsory.
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(2) 5629/(Set : A)
(i) 797 #% 1 @ 35 T% TGS G97 81 J9% Fo7 1 3% & &1 [MRIFET 57 997 &
FIT oy

Questions from 1 to 35 are objective type questions. Each question is of 1
mark. Answer of these questions may be given as per instructions.

R&sr : [Fraiiee sglamedig 727 & de} faweq giag -

Select the correct option of the following multiple choice questions :

1. fecqe 8 ¥ e Igregd d19s B ¢ 1
(A) 8 (B) 4
(C) 6 (D) 12

Number of tetrahedral voids in the fcc unit cell is :

(A) 8 (B) 4
(C) 6 (D) 12
2. TERE faeet § 99 & @ 1
(A) G (B) TUERT &9
(C) U=H T (D) ST

Isotonic solutions are the solutions having same :

(A) Concentration (B) Osmotic pressure
(C) Surface tension (D) Viscosity
3. Mg|Mg>" || Cu" | Cu & ae & R : 1
(A) 3T d @I H Mg (B) 3qs & &I H Cu
(C) Cu T ST BB & (D) SUET § & B Tl
For the given cell reaction Mg | M92+ I cu?t |Cu :
(A) Mg as cathode (B) Cu as cathode
(C) Cuis oxidizing agent (D) None of the above

5629/(Set : A)/ I
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(3) 5629/(Set : A)

4. f=feied a7 Rexis § stf¥fhar Hife sma HivI 1
K =2.6x10"*L mol™'S™
(A) 5gH B) A
(©) fadm (D) FH & 1z T
Identify the order of reaction from given rate constant :
K =2.6x10"*L mol'S™!
(A) First (B) Zero
(C) Second (D) None of these

5. IS PN HH-A1 T =61 W FHY 787 Sl ? 1
(A)  HITFAE
(B)  SRiersI-SAEHITE
(C) feved gwa
(D) ¥ q HE T
Which property of colloids is not dependent on charge on colloidal particles ?
(A) Coagulation
(B) Electro-osmosis
(C) Tyndall effect
(D) None of these

6. /1 & q HH-91 G99 YoT oA & ° 1
(A) HCIO (B) HCIO;
(C) HCIO, (D) HCIO,4

Which of the following is strongest acid ?

(A) HCIO (B) HCIO;
(C) HCIO, (D) HCIO,4
5629/(Set : A)/ II P.T.0.
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(4) 5629/(Set : A)

7. W= # @ B4 qd HUSTar 7gf qwid § 7 1
(A)  TEES B) Few
(C) el (D) TS
Which of the following element does not show allotropy ?
(A) Nitrogen (B) Bismuth
(C) Antimony (D) Arsenic
8. P-4 ad e iRl sraw 7ef R ? 1
(A)  Sc B) V
(C) Fe (D) Hg

Which element does not show variable oxidation state ?

(A) Sc B) V
(C) Fe (D) Hg

9. = i sraeeetl & ¥ oraHige ¥ 999 9 § ¢ 1
(A) +4 B) +3
(C) +2 (D) +5

Which of the following oxidation state is most common among the lanthanoids ?

(A) +4 (B) +3
(C) +2 (D) +5

10. A& [Co(NH3)s(CO3)|Cl | IueeddieH 1 Bt ? 1
(A) 6 (B) 3
(C) 4 (D) 2

What is the co-ordination number in the [Co(INH3)5(CO3)]Cl compound ?
(A) 6 B) 3
C) 4 (D) 2

5629/(Set : A)/ I
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(5) 5629/(Set : A)

11. K[Co(CO),] § HleTee &l Sieriien<or & & : 1
(A) +1 B) -1
(C) +3 (D) -3
The oxidation number of Cobalt in K[Co(CO)4|is :
(A) +1 B) -1
(C) +3 (D) -3

12. T% TAHF TohE ocigs Wi § agid & 1
(A)  Sn? (B) Sn!
() Forire (D) & & K T
A primary alkyl halide would prefer to undergo :
(A)  Sn? (B) Sn!
(C) Elimination (D) None of these

13. 3 H AMETH G o : 1
(A) C,Hoy,,10 (B) CnH,0
(€)  CrHgni20 (D) CpHopn 20
Molecular formula of ethers is :
(A) C,Hoy,,10 (B) CnH2,0
(€)  CrHgni20 (D) CpHou 20

14. 71 § yoa o< Hia-ar @ ? 1
(A) CH3zOH (B) CH3CH,OH
(C) (CH3),CHOH (D) (CH3)3COH
Which is strongest acid in the following ?
(A) CH3zOH (B) CH3CH,OH
(C) (CH3),CHOH (D) (CH3)3COH

5629/(Set : A)/ I P.T.O.

Downloaded from cclchapter.com



15.

16.

17.

18.

(6) 5629/(Set
A Y 7 A

(A)  wEHT (B) TS

(C) 3-U=eAN (D) 2-YeA
lodoform test is not given by :

(A) Ethanol (B) Ethanal

(C) 3-Pentanone (D) 2-Pentanone
BHAT SIAHIZS SAYEe AR ST &

(A) Ar-CONH, (B) Ar—-NO,

(C) Ar—-NH, (D) Ar-OH

Hoffmann Bromamide degradation reaction form :

(A) Ar-CONH, (B) Ar—-NO,
(C) Ar—-NH, (D) Ar-OH
frt & & PI9-91 &% RNA & § oX DNA # & ?

(4) o (B) HEIEH
©) T (D) @I
Which base is present in RNA but not in DNA ?

(A) Thyamine (B) Cytosine
(C) Uracil (D) Guanine
T & g T b [T B e BeeR § 7

(A) fqefs C (B) fqe®™ D
(C) fgeri= B, (D) fqeaf= K
The Vitamin responsible for the coagulation of blood is :
(A) Vitamin C (B) Vitamin D
(C) Vitamin B; (D) Vitamin K

5629/(Set : A)/ I
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(7) 5629/(Set : A)
fRsr - =T g9t @ Ga7 gwal =l a7 g -

Answer the following questions in one-two words/ sentences :

19. %ohd Y 47 & ? 1

What is Frenkel defect ?

20. 9 TN W 6 B w9 § e #9 F6 & Iwn 2 ? 1

Why gases less soluble in liquids as temperature is raised ?

21. Y JEI-AIECH T 8 1

What is strong electrolyte ?

22. IREFI FHet @l IRNg HifTT 1

Define activation energy.

23. S S FROT U Ficlise] did § § THA FHIAT 8, F 1 SeeT 8 ? 1

What is observed when a beam of light passed through a colloidal sol ?

24, IR foFre | ' 7 1

What are ambidentate ligands ?

25. FHfSens kAT @ ® ? 1

What is Carbylamine Reaction ?

26. AFIG B o YEST F fh IR B ST Pl STUET A & 7 1

What are the expected products of hydrolysis of lactose ?

5629/(Set : A)/ Il P.T.O.

Downloaded from cclchapter.com



(8) 5629/(Set : A)
dsr : aygaT 1=l @ Re &l @1 gid % -
Fill in the blanks by appropriate words :

27. ENE A ..o e | fogq = 8 gl 1
Ionic solids conduct electricity in ............ state

28. AR 1 o A7 AR B TEE e 9E EW R A B, B o Fed ol 1
Rate of reaction controlled by slowest step called ............ .

29. MM ®Y 9 GHACT Tl Bl FATRID S oo 2| 1

The general electronic configuration of transition element is ............ .

30. [Cu(NH3)4]SO, Tt AR § ..o A U1 B R 1

............ ions produced from complex compound [Cu(NH3)4]SOy4 .

31. CH3CHyBr+Nal —............ + NaBr . 1

32. CH,CH,0H 259 , .. 1
443 K

33. CHjz -CH =CHCHO 3% & [UPAC TM ............. 2 1

............ is the JIUPAC name of the compound CH3 - CH = CHCHO.

34. K3[AlCy04)3] T AR H [UPAC TH ............. 2l 1

............ is the JUPAC name of the complex compound K3[Al(C504)3].

35. e A & &9 § 89 al T covevvnnnnns 2l 1

............ is the deficiency disease of Vitamn C.

5629/(Set : A)/ I

Downloaded from cclchapter.com



CLASS : 12th (Sr. Secondary) Code No. 5629
Series : S.S.-March/2022
Roll No. SET : B

LI RCEIR]
CHEMISTRY
AT -1
PART -1
(st Tg)
(Subjective Questions)
ACADEMIC/OPEN

[ &=l ud oSl Hregw ]
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

77T : 2L g72] [ §% : 70 (9FFI : 35, 9L : 35)
Time allowed : 21 hours ] [ Maximum Marks : 70 (Part-I : 35, Part-II : 35)

gE-0 X WA | faeia B A (STets) T AR (FRgRTe)| e @ QN An @ g
% IW B ATH II-Ydl 7 e 31 IF-0 & AN GOE AN BN I Ued SaX-gRas
CS 1A e o 0 O A £ ) e O (s s 2 R R | e B
A 0% goT @ qhemt B qE-11 S 9eH-0 Rar s

-1 & 999-09 & § 12 U9 @& 9FHI & 999-T 7 Fo 35 999 o

Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 12 and of Part-II are 35.

o P G F T B G 5 99799 § GRa g2 8 oy 47 12 8

Please make sure that the printed pages in this question paper of Part-I are 8 in
number and it contains 12 questions.

5629/(Set : B)/ | P.T.O.
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(2) 5629/(Set : B)
® G97-g 4 alie7 &1 &l GlIT 7Y T FIe TEY Fel Qe F 5 TACYdH & JEH-J YT [rdE]

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

o FYF FIT F FA [T & HNT T Yeer, FeT H HHE ST [

Before beginning to answer a question, its Serial Number must be written.
o JUCYRTH % dF T @l g1/ G T 8is

Don’t leave blank page/pages in your answer-book.

o FUTYRaE & SR i o e T A o SEvEdgar & i@ e frar sav T
FIC]

Except answer-book, no extra sheet will be given. Write to the point and do not

Sstrike the written answer.
o GRS 1T U To FIT-GH GT 37F9T @)

Candidates must write their Roll Number on the question paper.

o U F97 F FAT &7 @ g7 I8 GARTGT Y A [ G797 §U T Fel 8, YT F YU 39
T § Bl A qar @ TE B A

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G (7397 -
General Instructions :

() & 97 ST &

All questions are compulsory.
(i) HEAF FoT B F I TET T T 8

Marks of each question are indicated against it.

(i) 797 G@ 1 @ 5 7% SIqg FTNT 97 81 JE9F 7 2 S B &1 HAB J97T F IV
TTHT 30 9= F dfory

5629/(Set : B)/ |
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(3) 5629/(Set : B)

Question Numbers 1 to 5 are very short answer type questions of 2 marks

each. Answer these in about 30 words each.

(iv) 97 7€ 6 @ 10 7% T FTIT 597 81 J% F97 3 G F &1 J9% F97 F IV
TTHT 40 IFT 7 Fforq

Question Numbers 6 to 10 are short answer type questions of 3 marks each.

Answer these in about 40 words each.

(v) F97 G&r 11 0F 12 & FThT 597 81 §8% J97 5 SF F &1 FOF 9T # IAT
TTHT 70 =] H A
Question Numbers 11 & 12 are long answer type questions of 5 marks each.

Answer these in about 70 words each.

i) F97-95 § 77 &7 @ F3 Qg & &1 Funfy 5 of#@ am @l d FwhT T g
STaR%E FI7 F&T7 97 77 81 88 g971 & @ gl %a & & J97 HT 81

There is no over all choice. However, internal choice is given in all long

answer type questions of 5 marks each. You have to attempt only one of the

given choice in such questions.

[ ey ST 999 ]

[ Very Short Answer Type Questions ]

1. I 39 & 99 & 89 1.25 ¢ mL™! & 91 38" 92 g Na' oA Uid fell i@ &
IuRerd B, O & H Na© ST 1 e s i 2

If the density of lake water is 1.25 g mL ™! and contains 92 g of Na* ions per

kg of water. Calculate the molality of Na* ions in lake.

2. TIH FHfC % ANEET F 3T ReRiH 200 sec™ | H4g H T HiT) 2

Calculate the half life of a first order reaction from rate constant 200 sec !.

5629/(Set : B)/ | P.T.O.
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(4) 5629/(Set : B)

3. Nsuw Afcmgs Gwawer sffer @ § ? 2

What is Gabriel Phthalimide synthesis reaction ?

4. T B % TCAEN § hep S ST 8 AR a9 A B G 2/3 IR REFRET B
WA 81 A AR B &) &1 a A & G 1 6 ° 2

Atoms of element B form hcp lattice and those of the element A occupy 2/3 of

tetrahedral voids. What is the compound formed by A and B ?

5. T% dgA IIHCA & 1.00 g & 50 g =i & gia" W 6@ oAb & 0.40 K & &l
B A B A H BHie o/aHe RRiw 5.12 K kg mol ! Bl 9T #1 AaX seHuN
EIREEAISI] 2

1.00 g of a non-electrolyte solute dissolved in 50 g of benzene lowered the
freezing point of benzene by 0.40 K. The freezing point depression constant of

benzene is 5.12 K kg mol~!. Find the molar mass of the solute.

[ Y ST 9 ]

[ Short Answer Type Questions ]

6. FHROT 3 L L HIOC FHATT AGL A T A aAwt 81 3

Explain giving reasons 'transition metals generally form coloured compounds'.
7. 0B S I : 1x3=3

What happens when :

(i) nIRed TGS H Teheld KOH & €Y ARehd 6 S © 7

n-butyl chloride is treated with alcoholic KOH ?

5629/(Set : B)/ |
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(5) 5629/(Set : B)
(i) 9 3R H IURART & Srfawi o ABR Fe=iiees & 2k 5 ?
Bromobenzene is treated with Mg in the presence of dry ether ?
(i) 6 3 I IURART § TR SiFES B SAREEN AieTH | B & ¢

Ethylbromide is treated with Na in the presence of dry ether ?

8. TN & T oM & TN W &3 &l fharfary fafaw) 3

Write the mechanism of acid dehydration of ethanol to yield ethene.

9. Ni(NO3), & T& o @ wifed Iadelel & g 5 UFPMER &l 9T yafed &Xd &g
20 fee % fagq owEe fRar M Ni @ Rea AET e oX Fafe @ ? (vi%%7) 3

A solution of Ni(NOgz), is electrolysed between Platinum electrodes using a
current of 5 amperes for 20 minutes. What mass of Ni is deposited at the

Cathode ? (Ni®®7)

10. ST T SAfREN € @ B © ¢ T 1 §%-0% S Al 3
What are lyophilic and lyophobic sols ? Give one example of each type.

[ €Y S0T 9T ]

[ Long Answer Type Questions ]

11. (a) 3-SRSEFIECA H & TR 1

Draw structure of 3-Hydroxybutanal.

(b) BFeTRr erffear @ amen Hifkm 2

Describe Cannizzaro reaction.

5629/(Set : B)/ | P.T.O.
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(6) 5629/(Set : B)

(c) iE VSl HeT & AT HifT| 2

Describe Cross Aldol Condensation reaction.

ST
OR
(a) CH3COCH5 71 & aIf¥fhar &% a1 S9Ian & 7 1x3=3
(i) NH,OH
(i) HCN

(iiij NH,NHCONH,

CH3COCH3 on reacting with the following will give what product ?
(i) NH,OH

(i) HCN

(iiij NH,NHCONH,

(b) FfoReT STfHfshaetl & SME WRdT ¢ {14129
(i) CO,HCI

feta alcis
cocCl

.. Hoyp
(ii) — =
Pd—-BaSO4

5629/(Set : B)/ |
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Write the products of the following reactions :

n © CO,HCI
Anhyd. AlCl3

CcoCl
(if) _M
Pd—-BaSOq4

12. (a) Cl, %I fa¥se 61 @1 HRET TaEUl 1

Give the reason for bleaching action of Cl,.

(b) T BT & 9 SO, @ Fe(lll) Ta°T & o e & & yaed HXd & ? 2

What happens when SO, is passed through an aqueous solution of

Fe(Ill) salt ?

(c) TEEM & STHMNI FAeR HI AT Hio| 2

Describe anomalous behaviour of Nitrogen.

YqT

OR

(a) @ 16 & Tl & CRERE $ AN TG $ HH H [l 2

Write the order of thermal stability of hydrides of Group 16 elements.

5629/(Set : B)/ | P.T.O.
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(8) 5629/(Set : B)
(b) =TT TN Bl T HY 1x3=3

(i) PbS+403 —
(ii) 8NHj(excess)+3Cly —

(i) Zn+4HNO; (§fE) —
Complete the following equations :
() PbS+403 —

(i) 8NHj(excess)+3Cly —

(iiif Zn+4HNOgj(conc.)—

5629/(Set : B)/ |
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o FUT FT F T [ I % 39 Je797 § FRT §T 8 79T 797 35 &1

Please make sure that the printed pages in this question paper of Part-II are 8 in
number and it contains 35 questions.

o gheEreff o1y T To FIT-UH T 9T [or@)

Candidates must write their Roll Number on the question paper.

o YT 49 1 FUY 37 @ (@ 98 FrRad &Y I [ geT9F {7 T &l 8, TOEr # IIT 59
G § Fig 4 @@ &@hwre Tl A aam

Before answering the question, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

General Instructions :
() @ g7 art &

All questions are compulsory.
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(2) 5629/(Set : B)
(i) 597 #F4% 1 @ 35 T% TGS J97 81 J9% Fo7 1 3% & &1 [MRIFET 57 997 %
FIT oy

Questions from 1 to 35 are objective type questions. Each question is of 1
mark. Answer of these questions may be given as per instructions.

R&sr : [ sglamediq 727 & def faweq gy -

Select the correct option of the following multiple choice questions :

1. BCC W% Fifted & Raq &M & yfdead ® - 1
(A) 68% (B) 32%
(C) 74% (D) 52%

The percentage of space unoccupied in BCC Unit cell is :

(A) 68% (B) 32%
(C) 74% (D) 52%
2. ARG s & G & 1
A) P° (B) Kb
(C) Kf (D) T & HE T
Symbol for Cryoscopic constant is :
A) P° (B) Kb
(C) Kf (D) None of these
3. T IhaT B SI R B 1
(A) Sm™ mol! (B) Sm® mol™’
(C) Sm™ mol (D) S m?mol™!

The SI Units of molar conductivity are :
(A) Sm™ mol! (B) Sm® mol™’
(C) Sm™ mol (D) Sm?mol™!

5629/(Set : B)/ I
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(3) 5629/(Set : B)

4. T B H o F A Rewiw A g B 1
(A) €= q9g 2 (B) !
(C) Hr=ar! gy ! (D) W=l 999 !
The units of rate constant for first order reaction is :
(A) Concentration? Time ™ (B) Time™’
(C) Concentration™ Time™ (D) Concentration Time™
5. 3 ARABRA F AT AREEREH B Wl W MR T F@ &, A AR B 1
(A) I &S (B) ¥ Hife
(©) facia ife (D) T & %I &

If rate of a reaction is independent of the concentration of reactants, then
reaction is :

(A) Zero order (B) First order
(C) Second order (D) None of these

6. fr=idiad & & @ T 8 ? 1
(A)  [T{H,0)6*" (B) Cul,
(C)  [Sc(HO)¢l*" (D)  [Zn(NH;)el**
Which one is coloured ?
(A)  [Ti(H,0)4* (B) Cul,
(C)  [Sc(HO)¢l™" (D)  [Zn(NH;)e]**

7. [CH{NH,);ClBr @ [CH{NH,);Br|Cl ®F-§ dwaad & ? 1
(A) e (B) SfHfay
(C) SeHISTH (D) EAA
Which type of Isomerism present in [Cr{NH;);Cl|Br and [Cr(NH;)sBr|CL?
(A) Linkage (B) Geometrical
(C) Optical (D) Ionic

5629/(Set : B)/ I P.T.O.
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10.

11.

(4)

5629/(Set :

fFreifafaa & | 6 G § o1g &1 STaieoT Sfae 3 © ¢

(A)  [Fe(CN)g* (B) [CuCL]>
(C)  [N(CO)y] (D) Ki[Fe(CN)g]
In the following complexes which metal has zero oxidation number ?
(A) [Fe(CN)o* (B) [CuCL]>
(C)  [N(CO),] (D) Ky[Fe(CN)g|
frefeied & @ @ g s & °

(A) OH" (B) NCS~

(C) CN- (D) CO

In the following which is strongest Ligand ?

(A) OH™ (B) NCS~

(C) CN- (D) co
feferemee dexiver el a9 @ fafy B 7

(A) BN (B) Wi

(C) I (D) TwhIRM
Williamson synthesis is used to prepare :

(A) Ether (B) Amine

(C) Ketone (D) Alcohol
Fret & & I geeram ot 8 7

(A) TN (B) WM

(C) T (D) p-TELIBIMT
Which one is the strongest acid ?

(A) Ethanol (B) Phenol

(C) Methanol (D) p-Nitrophenol

5629/(Set : B)/ I
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(5) 5629/(Set : B)

12. C,H;OC,H;+ HI— A+ B, A9 B & : 1
(A) C,H;OH, C,H;I (B) C,H;OH, CH,;I
(C) C,HsCHO + CH,I (D) C,HsI, CH;OH
C,H;OC,H; + HI—- A+ B, Aand B are :
(A) C,HsOH, C,HsI (B) C,HsOH, CH;5I
(C) C,H;CHO + CH;I (D) C,HsI, CH;OH
CcocCl CHO
H "
13.@ — - @sﬂeﬁﬁﬁm@r%ﬁ% 1
Pd - BaSO,
INERECERC IR ED (B) HVZ e
(C) USITHS STT=rgH (D) e SifHfseaT
CHO
COcCl o
—2 @ , this reaction is :
Pd - BaSO,
(A) Etard reaction (B) HVZ reaction
(C) Rosenmund reduction (D) Gatterman reaction
NO
14. @ Q%P, P & : 1
LSRR
NH, CHO

w O ® O

H
© @ D) é

NO, H,/Pd
—_—
Ethanol

P, Pis :

NH, CHO
® O ®)

© © (D)

5629/(Set : B)/ Il P.T.O.
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16.

17.

18.

(6) 5629/(Set :

UfcseEe Td Hiaw § fove = a3 R o g @

(A) §= H,SO, (B) i@ zZnCl,
(C) e e (D) &= HCI
Aldehydes and Ketones can be distinguished by :

(A) Conc. H,SO, (B) Anhyd. ZnCl,
(C) Tollens' Reagent (D) Conc. HCI
i SEUSINEH FAIgE Pl W § rfwfsear & -

(A)  Swie (B) S=THES

(C) S=MEHN (D) WA
Reaction of Benzene diazonium chloride with ethanol will give :
(A) Benzene (B) Benzamide
(C) Benzenamine (D) Phenol
foerfm B, # #eq ¥ -

(A) UEpEH 3T (B) &=

(C) VESITRITa (D) UERErT
Vitamin B, is known as :

(A) Ascorbic acid (B) Thiamine
(C) Riboflavin (D) Pyridoxine
B faafe o o o § 7

(A) faafE K (B) faaf= D
(C) faa™= B (D) fEfEE
Which vitamin is soluble in water ?

(A) Vitamin K (B) Vitamin D
(C) Vitamin B (D) Vitamin E

5629/(Set : B)/ I
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(7) 5629/(Set : B)

RS - =T g9l @ oY @ -aq )/ a7 o -

Answer the following questions in one-two words/ sentences :

19. 9 ARG ® ST & T UM 61 S 5, AF R SR & St o erl § ¢ 1
Which type of semiconductor is obtained when Silicon doped with Boron ?

20. & A % A e 8 ? 1
What is the molality of pure water ?

21. H, + Br, — 2HBr, 39 e % [T SHERAT T = K[H,][Br,]|”, e & ®ife 7
it 1
H, + Br, — 2HBr, For this Reaction Rate = K[H,][Br,|””. What is order of
reaction ?

22. g3 9 TER B HIES o 7 1
Smoke is which type of colloid ?

23. AsH, NH,, PH, 9 BiH, ¥ § Jdqaq Uads faiaa) 1
Among AsH; NH;, PH; and BiH; which is strongest reducing agent ?

24. ZSM-5T 8 ? 1
What is ZSM-5 ?

25. el § faameE o i-ar ¢ ¢ 1

HCIO,, H;PO;, H;PO, 9 H;PO,
In the following which is Dibasic acid ?
HCIO,, H,PO,, H,PO, and H,PO,

26. DNA T RNA # f-fa &Re id § ? 1

How many bases are present in DNA and RNA each ?
5629/(Set : B)/ Il P.T.O.
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(8) 5629/(Set : B)
dsr : aygaT 1=l @ Re &l @1 gid % -
Fill in the blanks by appropriate words :

27. IANE 3G B SHR ............ B B

28. ARG BT Zn — Zn®t + 2 oo fshaT 1 IEEI B

29. Cr,0,> ¥

In Cr,0,*

reaction Zn — Zn** + 2¢ is an example of ............ process.

Cr @l STl STl ............ Bl

, the oxidation number of Cris ............ .

30. [CH{H,0)sCN|CL  [CH{H,0)sNC|CL, & ............ YBTY % THEIIAT Bl
............ type of isomerism is present in [Cr(H,0)sCN]|CL, and [Cr(H,0)sNC|CL,.

31. T==aH SRR TGl Mn 3l ............ Bl R

32. Cl°, OH",

COT NO, & ............ & I e R

Among Cl~, OH™, COand NO, only ............ is Ambidentate Ligand.

33. CH,Br

KCN _ ,  LiAlH,

In CH;Br

KCN LiAIH,

A B, Aand Bare ............ .

34. ATP & QU TH 8 ..ooovee. |
Full name of ATP is ............ .

85. C,H.I, C,H.Br, C,H;Fd C,H;CI & q ........... P FIIE T HH BT
Among C,Hsl, C,H;Br, C,Hs;F and C,H;Cl, ............ has minimum boiling point.

5629/(Set : B)/ I
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CLASS : 12th (Sr. Secondary) Code No. 5629
Series : S.S.-March/2022
Roll No. SET : C

LI RCEIR]
CHEMISTRY
AT -1
PART -1
(st Tg)
(Subjective Questions)
ACADEMIC/OPEN

[ &=l ud oSl Hregw ]
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

77T : 2L g72] [ §% : 70 (9FFI : 35, 9L : 35)
Time allowed : 21 hours ] [ Maximum Marks : 70 (Part-I : 35, Part-II : 35)

gE-0 X WA | faeia B A (STets) T AR (FRgRTe)| e @ QN An @ g
% IW B ATH II-Ydl 7 e 31 IF-0 & AN GOE AN BN I Ued SaX-gRas
CS 1A e o 0 O A £ ) e O (s s 2 R R | e B
A 0% goT @ qhemt B qE-11 S 9eH-0 Rar s

-1 & 999-09 & § 12 U9 @& 9FHI & 999-T 7 Fo 35 999 o

Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 12 and of Part-II are 35.

o P G F T B G 5 99799 § GRa g2 8 oy 47 12 8

Please make sure that the printed pages in this question paper of Part-I are 8 in
number and it contains 12 questions.
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(2) 5629/(Set : C)
® G97-g 4 alie7 &1 &l GlIT 7Y T FIe TEY Fel Qe F 5 TACYdH & JEH-J YT [rdE]

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

o FYF FIT F FA [T & HNT T Yeer, FeT H HHE ST [

Before beginning to answer a question, its Serial Number must be written.
o JUCYRTH % dF T @l g1/ G T 8is

Don’t leave blank page/pages in your answer-book.

o FUTYRaE & SR i o e T A o SEvEdgar & i@ e frar sav T
FIC]

Except answer-book, no extra sheet will be given. Write to the point and do not

Sstrike the written answer.
o GRS 1T U To FIT-GH GT 37F9T @)

Candidates must write their Roll Number on the question paper.

o U F97 F FAT &7 @ g7 I8 GARTGT Y A [ G797 §U T Fel 8, YT F YU 39
T § Bl A qar @ TE B A

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G (7397 -
General Instructions :

() & 97 ST &

All questions are compulsory.
(i) HEAF FoT B F I TET T T 8

Marks of each question are indicated against it.

(i) 797 G@ 1 @ 5 7% SIqg FTNT 97 81 JE9F 7 2 S B &1 HAB J97T F IV
TTHT 30 9= F dfory

5629/(Set : C)/ |
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(3) 5629/(Set : C)

Question Numbers 1 to 5 are very short answer type questions of 2 marks

each. Answer these in about 30 words each.

(iv) 997 @& 6 @ 10 % T ITUT 597 &1 J9% F97 3 G & 81 JA% F97 F FAT
TTHT 40 9= 7 Fforg

Question Numbers 6 to 10 are short answer type questions of 3 marks each.
Answer these in about 40 words each.

(v) F97 G&r 11 0F 12 & FThT 597 81 §8% J97 5 SF F &1 FOF 9T # IAT
TTHT 70 =] H A
Question Numbers 11 & 12 are long answer type questions of 5 marks each.

Answer these in about 70 words each.

i) F97-95 § 77 &7 @ F3 Qg & &1 Funfy 5 of#@ am @l d FwhT T g
STaR%E FI7 F&T7 97 77 81 88 g971 & @ gl %a & & J97 HT 81

There is no over all choice. However, internal choice is given in all long

answer type questions of 5 marks each. You have to attempt only one of the

given choice in such questions.

[ ey ST 999 ]

[ Very Short Answer Type Questions ]

1. Jfsug dAfcmEes deqwer sAffer @ 7 ? 2

What is Gabriel Phthalimide synthesis reaction ?

2. T@ B & TWAEN § hep S ST 8 R O A & GTAY 2/3 IR RiFE H
WA 81 A 3R B &) &9 a1t AR B G 1 & 7 2

Atoms of element B form hcp lattice and those of the element A occupy 2/3 of

tetrahedral voids. What is the compound formed by A and B ?

5629/(Set : C)/ | P.T.O.
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(4) 5629/(Set : C)

3. UF I ST & 1.00 g H 50 g Ii § HioM W 36 b § 0.40 K & F#
B I B I 1 fBHie oraEe R 5.12 K kg mol ! Bl 9T #1 AaX sHUN
Sa i 2

1.00 g of a non-electrolyte solute dissolved in 50 g of benzene lowered the
freezing point of benzene by 0.40 K. The freezing point depression constant of

benzene is 5.12 K kg mol~!. Find the molar mass of the solute.

4. IR AT B T P o9 1.25 g mL ' B T SHY 92 g Na' o w9 R @ H
Juierd B, @ 3 H Na© ST % Hidadr s i) 2

If the density of lake water is 1.25 g mL ™! and contains 92 g of Na* ions per

kg of water. Calculate the molality of Na* ions in lake.

5. WU FHifc H AMGERAT & O ReRH 200 sec™ | H&g H M1 HifT) 2

Calculate the half life of a first order reaction from rate constant 200 sec !.

[ Y ST us ]

[ Short Answer Type Questions ]

6. TN & T oM & TN o & @l fharfary fafaw 3

Write the mechanism of acid dehydration of ethanol to yield ethene.

7. Ni(NO3), & Th o & @ife™ Iodgisl & a9 5 UROEX & g1 SEmfed &Xd 8¢
20 fee % foq otwEes fRam M Ni @ Rea AET e oX Fafe @k 2 (vi*%7) 3

A solution of Ni(NOgz), is electrolysed between Platinum electrodes using a
current of 5 amperes for 20 minutes. What mass of Ni is deposited at the
Cathode ? (Ni®87)

5629/(Set : C)/ |
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(5) 5629/(Set : C)

8. SOXFN U9 FAOXEN | T 8l § ? % Bl 0% Sael i 3

What are lyophilic and lyophobic sols ? Give one example of each type.

9. FHROT A L W HIY THATT L AR: T4 AR it 517 3

Explain giving reasons 'transition metals generally form coloured compounds'.

10. &1 Bl ? 99 : 1x3=3

What happens when :

() ned TGS H Teheld KOH & A1 Rk 6 S 8 7
n-butyl chloride is treated with alcoholic KOH ?

(i) 9 3R H IURART & SAawi o ABR F=iRes & 8 & ?
Bromobenzene is treated with Mg in the presence of dry ether ?

(il) o 3R A SURART F R SRS A AR QfeTH & Bl B 7

Ethylbromide is treated with Na in the presence of dry ether ?

[ €Y ST 9 ]

[ Long Answer Type Questions ]

11. (a) @ 16 % @l & eEgEel & AU ¥E & w9 & faRaw 2
Write the order of thermal stability of hydrides of Group 16 elements.

(b) =TT SN Bl QU HY 1x3=3

() PbS+40;3 —

5629/(Set : C)/ | P.T.O.
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(6) 5629/(Set : C)
(ii) 8NHg(excess)+3Cly —
(iii)y Zn+4HNO; (|f&) —
Complete the following equations :
(i) PbS+403 —
(i) 8NHj(excess)+3Cly —
(iiif Zn+4HNOgj(conc.)—

YqT

OR

(@) Cl, %l RS A1 & HROT FART 1

Give the reason for bleaching action of Cl,.

(b) T BT & 9 SO, @ Fe(lll) TG & T e & & yaed HXd & ? 2

What happens when SO, is passed through an aqueous solution of
Fe(Ill) salt ?

() TS & STHMMY FaeR &l AT Bt 2

Describe anomalous behaviour of Nitrogen.

12. (a) CH3COCHj =1 & Siffhar #& a1 Sl & 7 1x3=3

() NH,OH

5629/(Set : C)/ |

Downloaded from cclchapter.com



(7) 5629/(Set : C)
(i) HCN
(iiiy NH,NHCONH,

CH3COCH3 on reacting with the following will give what product ?
(i) NH,OH
(ii) HCN

(i) NH,NHCONH,
(b) ffcReT STfHfshaetl & SMg WRdT ¢ {1+129

. CO,HCl
(1) —

fetaa alcis
CcocCl

.. Hoyp
(i1) —=
Pd—-BaSO4

Write the products of the following reactions :

n © CO,HCI
Anhyd. AlCl3

coct
(i) © 2,
Pd—-BaSO4
YT
OR
5629/(Set : C)/ | P.T.O.
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(a) 3-TRSEEIT & I IR 1
Draw structure of 3-Hydroxybutanal.

(b) e erffear @ amen Hikm 2

Describe Cannizzaro reaction.

(c) T TR 9T AT Hio| 2

Describe Cross Aldol Condensation reaction.
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CLASS : 12th (Sr. Secondary) Code No. 5629
Series : S.S.-March/2022

Roll No. SET : C
LGRS RCE G

CHEMISTRY
HAT - 11
PART - II

(g 9%)

(Objective Questions)
ACADEMIC/OPEN
[ o=l wd sl A |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

o FUT FT F T [ I % 39 Je797 § FRT §T 8 79T 797 35 &1

Please make sure that the printed pages in this question paper of Part-II are 8 in
number and it contains 35 questions.

o gheEreff o1y T To FIT-UH T 9T [or@)

Candidates must write their Roll Number on the question paper.

o YT 49 1 FUY 37 @ (@ 98 FrRad &Y I [ geT9F {7 T &l 8, TOEr # IIT 59
G § Fig 4 @@ &@hwre Tl A aam

Before answering the question, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

General Instructions :
() @ g7 art &

All questions are compulsory.
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(2) 5629/(Set : C)
(i) 597 #F4% 1 @ 35 T% TGS J97 81 J9% Fo7 1 3% & &1 [MRIFET 57 997 %
FIT oy

Questions from 1 to 35 are objective type questions. Each question is of 1
mark. Answer of these questions may be given as per instructions.

R&sr : [Fraiiee sglamedig 727 & de} faweq giag -

Select the correct option of the following multiple choice questions :

1. Th FCC e 8 ¥ fha sffeerega s & ? 1
A) 4 (B) 2
C) 6 (D) 12

In a face centred unit cell (FCC) the number of Octahedral Voids :

A) 4 B) 2
C) 6 (D) 12
2. K,[Fe(CN),] % fm@ are 2% B () & 99 2 : 1
(A) 6 (B) 5
© 4 (D) =
What is the value of Van't Hoff factor (i) for K,[Fe(CN)4] ?
(A) 6 (B) 5
C) 4 (D) Zero
3. WeE TEENN sa9es (SHE) & o Wes s WehREd © ¢ 1
(A) -0.5V (B) +1.0V
(C) 0.0V (D) +2.0V

Standard Electrode potential for Standard Hydrogen Electrode (SHE) is :
(A) -0.5V B +10V
(C) 0.0V (D) +2.0V

5629/(Set : C)/ I
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(3) 5629/(Set : C)

4. UFH AAERAT H AT A9 AT = K[A]? [B] %/ &, 39 AR B Hife 2 - 1
(A) 3.0 B) 0.5
) 1 (D) -0.5
Rate constant for a reaction is Rate = K[A]? [B]™>/? the order of reaction is :
(A) 3.0 (B) 0.5
) 1 (D) -0.5
5. W Hlirgs § qRETY qegd B © 1
(A) a1g (B) St
(C) UcehlEiat (D) S=iF
Dispersion medium in Aerosol Colloid is :
(A) Air (B) Water
(C) Alcohol (D) Benzene
6. & AR A B ? 1
(A) PH, (B) SbH,
(C) NH; (D) AsH;
Which is most Basic ?
(A) PH, (B) SbHj,
(C) NH; (D) AsH,
7. TR Y fraed I & fm g ? 1
(A) H,SO, (B) NH,
(C) HCI (D) O4

Haber's process is used to prepare :

(A)  HySO, (B) NH,
(C) HCI (D) O,
5629/(Set : C)/ I P.T.O.
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10.

11.

(4) 5629/(Set

HI-91 T Soaad ST STaey JERid Hear § 7
(A) Cr (B) Mn
(C) Fe (D) Zn

Which Element will show highest oxidation number ?

(A) Cr (B) Mn
(C) Fe (D) Zn
frr & 9 SugEd fofre @9 B 7

(A) COs* (B) CN-
(C) NO5 (D) Br-

Which is Ambidentate Ligand ?

A) CO* (B) CN-

(C) NO5 (D) Br-
Sc®* A & FEHY Y ©

(A) 1.73 BM (B) 0 BM
(C) 5.92 BM (D) 2.83 BM

What is the magnetic moment of Sc®* ion ?
(A) 1.73 BM (B) 0BM
(C) 5.92 BM (D) 2.83 BM

[CHINH,),CL]CL & Cr @l Sifeiiepsor oae ©

(A) +6 B) +1
(C) +3 (D) LA
The oxidation number of Crin [Cr(NH;),CL]Cl is :
(A) +6 B) +1
(C) +3 (D) Zero

5629/(Set : C)/ I
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12. = siffear & @ 99 8 7 1
AN x- —CWHCL | acie v, + cux
(A) YT AfHiHAT (B) sieoT-STHM Stfifshan
(C) e SAffpar (D) HUSHER STffham
What is the name of this reaction ?
AN x- —CWHCL | a oy v, + cux
(A) Coupling reaction (B) Balz-Schiemann Reaction
(C) Gattermann reaction (D) Sendmeyer reaction

13. TEH FUAE At & 7 1
(A) CH;CH,CH,CH,OH (B) CH;0H
() CH;CH,CH,OH (D) CH;CH,OH
Which has Highest Boiling point ?
(A) CH;CH,CH,CH,OH (B) CH;0H
(¢) CH;CH,CH,OH (D) CH;CH,OH

14. =1 4 a9 f&Egs ks © ? 1
(A) NH,CH,CH,NH, (B) CO*
(C) NC (D) H,O
Which one is Bidentate Ligand ?
(A) NH,CH,CH,NH, (B) CO*
(C) NC~ (D) H,O

15. =1 & § 999 9 =<9 8 ¢ 1
(A) C,H;OH (B) CH;COOH
(C) CyH;OH (D) CICH,COOH
Which is Least Acidic ?
(A) C,H;OH (B) CH;COOH
(C) CyH;OH (D) CICH,COOH

5629/(Set : C)/ I P.T.O.
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Br, | KOH

16. CH,CONH,

(A) CH,CN

(C) CH,Br

CH,coNH, — B2/ KOH

(A) CH,CN

(C)
BTl SEADES &
A) WrE
(C)

Disaccharide is :

CH,Br

17.

(A) Starch

(C) Lactose

T~TEH ©
(A) FEE TES
(C) PR

Enzymes are :

18.

(A) Nucleic acids

(C) Carbohydrates

P, P& :

P, Pis:

(B)

(D)

(B)

(D)

(B)

(D)

(B)

(D)

(B)
(D)

(B)
(D)

5629/(Set

CH,NH,

CH,OH

CH,NH,

CH,OH

RIS
&gl

Fructose

Cellulose

a4
e

Fats

Proteins

f@sr - =T g9t @ oY @ -a sl a7 o -

Answer the following questions in one-two words/ sentences :

19. RAREEA # 59 HEPRE & 9 AR Ha & a9 59 JeR & SFeuxs o &R ?

What type of semiconductor formed when Si is doped with P ?

5629/(Set : C)/ I
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20. 3BT MnO,” — Mn™ % T e S & STEeewar er ? 1
MnO,” — Mn*? for this reaction, how many Faraday are required ?

21. FT AR H AOGHA LI B Fhll & 7 1
Is it possible that Molecularity of a reaction can be zero ?

22. Zn,[Fe(CN)s] ® IUPAC M fafem 1
Write IUPAC name of Zn,[Fe(CN)g).

23. I @ BN Sy e I & W ? 1

CH,;CH,CH,CH,I 9 CH;CH,CH,CH,CI
Among CH,CH,CH,CH,I and CH,CH,CH,CH,Cl will show Sy? reaction fast.

24. Ui, f&dEs qU Jolas Uehleldl &l STl &1 % frau| 1

Write acidic order of Primary, Secondary and Tertiary alcohols.

O
25, iﬁ @ IUPAC M faRau) 1
CH,
O
(ﬁ write its I[UPAC name.

26. 3 fqafts & 9 fofae s a9 & faow 2 1

Write the names of two vitamins soluble in fats.

fder : gygFT =] & Re el & i &7 -
Fill in the blanks by appropriate words :

27. BCC 5% § HHe & ..o, gferer Bt 21 1
Packing efficiency in BCC crystal is ............ percent.
5629/(Set : C)/ I P.T.O.
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28.

29.

30.

31.

32.

33.

34.

35.

(8) 5629/(Set : C)

59U NaOH % 500 el foda= @ Aieear ............ =Rl 1

If 5 g NaOH dissolved in 500 ml solution the molality of solution will
be ............ .

zri&x:of% 2 q ofE A AR Gt |
1/2
If K= 01;693 the order of reaction will be ............ .
1/2

TH IAH ThIT ol B ... T R 1
A catalyst ............ the activation Energy
CH, T’T

> CH-OH ——% ............ . 1

300°C

CH.
3 > cH-oy _ Cu Powder .

CH, 300°C

e FAHBHD ... B 1
Tollen's reagent is ............ .

(C,Hy),NHT C,H.NH, ¥ & ............ A &mia R 1
Among (C,Hs),NH and C,H;NH,, ............ is more basic.

3o THo To § WA, MM, TEARN T ............ IR &R 89 2 1

In RNA, the four basis present are Adenine, Guanine, Cytosine and ............ .

5629/(Set : C)/ I
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CLASS : 12th (Sr. Secondary) Code No. 5629
Series : S.S.-March/2022
Roll No. SET : D

LI RCEIR]
CHEMISTRY
AT -1
PART -1
(st Tg)
(Subjective Questions)
ACADEMIC/OPEN

[ &=l ud oSl Hregw ]
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

77T : 2L g72] [ §% : 70 (9FFI : 35, 9L : 35)
Time allowed : 21 hours ] [ Maximum Marks : 70 (Part-I : 35, Part-II : 35)

gE-0 X WA | faeia B A (STets) T AR (FRgRTe)| e @ QN An @ g
% IW B ATH II-Ydl 7 e 31 IF-0 & AN GOE AN BN I Ued SaX-gRas
CS 1A e o 0 O A £ ) e O (s s 2 R R | e B
A 0% goT @ qhemt B qE-11 S 9eH-0 Rar s

-1 & 999-09 & § 12 U9 @& 9FHI & 999-T 7 Fo 35 999 o

Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 12 and of Part-II are 35.

o P G F T B G 5 99799 § GRa g2 8 oy 47 12 8

Please make sure that the printed pages in this question paper of Part-I are 8 in
number and it contains 12 questions.

5629/(Set : D)/ | P.T.O.
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(2) 5629/(Set : D)
® G97-g 4 alie7 &1 &l GlIT 7Y T FIe TEY Fel Qe F 5 TACYdH & JEH-J YT [rdE]

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

o FYF FIT F FA [T & HNT T Yeer, FeT H HHE ST [

Before beginning to answer a question, its Serial Number must be written.
o JUCYRTH % dF T @l g1/ G T 8is

Don’t leave blank page/pages in your answer-book.

o FUTYRaE & SR i o e T A o SEvEdgar & i@ e frar sav T
FIC]

Except answer-book, no extra sheet will be given. Write to the point and do not

Sstrike the written answer.
o GRS 1T U To FIT-GH GT 37F9T @)

Candidates must write their Roll Number on the question paper.

o U F97 F FAT &7 @ g7 I8 GARTGT Y A [ G797 §U T Fel 8, YT F YU 39
T § Bl A qar @ TE B A

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G (7397 -
General Instructions :

() & 97 ST &

All questions are compulsory.
(i) HEAF FoT B F I TET T T 8

Marks of each question are indicated against it.

(i) 797 G@ 1 @ 5 7% SIqg FTNT 97 81 JE9F 7 2 S B &1 HAB J97T F IV
TTHT 30 9= F dfory

5629/(Set : D)/ |
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(3) 5629/(Set : D)
Question Numbers 1 to 5 are very short answer type questions of 2 marks

each. Answer these in about 30 words each.

(iv) 997 @& 6 @ 10 % T FTUT 597 &1 J9% F97 3 G & 81 JA% F97 F FAT
TTHT 40 = 7 o

Question Numbers 6 to 10 are short answer type questions of 3 marks each.

Answer these in about 40 words each.

(v) F97 T&r 11 §F 12 FF GThT 597 &1 J&9% J97 5 F F &1 F9F 97 F IAT
TTHT 70 9] 7 o
Question Numbers 11 & 12 are long answer type questions of 5 marks each.

Answer these in about 70 words each.

(i) F97-97 § g7 &Y @ 3 Qw78 & a5 ofE g g d% Fwhg ged g
STARF 797 FaI7 [T T &1 07 7971 § @ oy da @ & 997 Her &

There is no over all choice. However, internal choice is given in all long

answer type questions of 5 marks each. You have to attempt only one of the

given choice in such questions.

[ ATy ST 98 ]

[ Very Short Answer Type Questions ]

1. TF Jgd IFeUEcH & 1.00 g B 50 g I § g W 36 i & 0.40 K &l F#l
B I B I H fBHie oraHe R 5.12 K kg mol ! Bl 9T # 99X sHUN
S i 2

1.00 g of a non-electrolyte solute dissolved in 50 g of benzene lowered the
freezing point of benzene by 0.40 K. The freezing point depression constant of

benzene is 5.12 K kg mol !. Find the molar mass of the solute.

5629/(Set : D)/ | P.T.O.
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2. IR T B T P o9 1.25 g mL ' B T SHY 92 g Na' o ua R @ H
Juierd B, O 3 H Na© STE 1 Hicadr s i 2

If the density of lake water is 1.25 g mL ™! and contains 92 g of Na* ions per

kg of water. Calculate the molality of Na* ions in lake.

3. WM FfC H ANEEN & 3T ReRiEw 200 sec™ & Hug A T HT 2

Calculate the half life of a first order reaction from rate constant 200 sec !.

4. Nsuw AfmEs Geawer stk @ g ? 2

What is Gabriel Phthalimide synthesis reaction ?

5. T B % WHIYS § hcp 0% &9l & AR &d A & WA 2/3 Tquhasdd Riddl H
W 81 A X B &) &1 drt AR B G 1 & 7 2

Atoms of element B form hcp lattice and those of the element A occupy 2/3 of

tetrahedral voids. What is the compound formed by A and B ?

[ @Y STE 999 ]

[ Short Answer Type Questions ]

6. SR U9 SARREN G F1 A & ? Toh Bl 0% Sarel i) 3

What are lyophilic and lyophobic sols ? Give one example of each type.

7. FROT A U W HIC FHACT QL AR TN AR i 81 3

Explain giving reasons 'transition metals generally form coloured compounds'.

5629/(Set : D)/ |
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8. & I : 1x3=3

What happens when :

() ned TGS H TEheld KOH & A1 R 6 S 8 7
n-butyl chloride is treated with alcoholic KOH ?

(i) 96 3 I IURAT F ST H ATHBRAT TR & Bl 8 ?
Bromobenzene is treated with Mg in the presence of dry ether ?

(ili) 6 3T A IRAT F R SRS A AR QfeTH & Bl B 7

Ethylbromide is treated with Na in the presence of dry ether ?

9. TN & T fFoiem & T o & i fhartary fafaw 3

Write the mechanism of acid dehydration of ethanol to yield ethene.

10. Ni(NO3), & U& fq@dq & wifedd sueglel & a9 5 IR & 9] Waied #Xd g
20 fife a% fagq owEe fbam mam Vi @t Reae wEn e X AR @ 2 (vi®87) 3

A solution of Ni(NOjz), is electrolysed between Platinum electrodes using a
current of 5 amperes for 20 minutes. What mass of Ni is deposited at the
Cathode ? (Ni°®7)

[ € ST 9 ]

[ Long Answer Type Questions ]

11. (a) 3-SRSEFIC H & TR 1

Draw structure of 3-Hydroxybutanal.

5629/(Set : D)/ | P.T.O.
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(6) 5629/(Set : D)
(b) ISR STTfRAT & SR BT 2

Describe Cannizzaro reaction.

(c) iE VSl HeT & AT HiC| 2

Describe Cross Aldol Condensation reaction.

Y[
OR
(a) CH3COCH5 1 & aIf¥fear &% a1 S9Iam & 7 1x3=3
() NH,OH
(i) HCN

(iiij NH,NHCONH,

CH3COCH3 on reacting with the following will give what product ?
(i NH,OH

(i) HCN

(iiii NH,NHCONH,

5629/(Set : D)/ |
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(7) 5629/(Set : D)
(b) FfcReT STfHfshaetl & SME WRdT : {14129

: CO,HCl
(i)

feta alcis
cocCl

.. Hoyp
(i1) —=
Pd—-BaSO4

Write the products of the following reactions :

n © CO,HCI
Anhyd. AlCl3

CcoCl
(if) _ M
Pd—BaS04
12. (a) Cl, %I fa¥s 61 @1 HRET TaEyl 1

Give the reason for bleaching action of Cl,.

(b) T BT & T SO, @ Fe(lll) TG & o fae@ § & Jaed HXd & ? 2

What happens when SO, is passed through an aqueous solution of

Fe(Ill) salt ?

() TS & STHMMY FAeR AT Bt 2
Describe anomalous behaviour of Nitrogen.
YT
OR
(@) T 16 & T@ ® eBIRESI B AU AT B HH B [REY 2

Write the order of thermal stability of hydrides of Group 16 elements.

5629/(Set : D)/ | P.T.O.
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(8) 5629/(Set : D)
(b) =TT TN Bl T HY 1x3=3

(i) PbS+403 —
(ii) 8NHj(excess)+3Cly —

(i) Zn+4HNO; (§fE) —
Complete the following equations :
() PbS+403 —

(i) 8NHj(excess)+3Cly —

(iiif Zn+4HNOgj(conc.)—

5629/(Set : D)/ |
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CLASS : 12th (Sr. Secondary) Code No. 5629
Series : S.S.-March/2022

Roll No. SET : D
LGRS RCE G

CHEMISTRY
HAT - 11
PART - II

(g 9%)

(Objective Questions)
ACADEMIC/OPEN
[ o=l wd sl A |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

o FUT FT F T [ I % 39 Je797 § FRT §T 8 79T 797 35 &1

Please make sure that the printed pages in this question paper of Part-II are 8 in
number and it contains 35 questions.

o gheEreff o1y T To FIT-UH T 9T [or@)

Candidates must write their Roll Number on the question paper.

o YT 49 1 FUY 37 @ (@ 98 FrRad &Y I [ geT9F {7 T &l 8, TOEr # IIT 59
G § Fig 4 @@ &@hwre Tl A aam

Before answering the question, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

General Instructions :
() @ g7 art &

All questions are compulsory.

5629/(Set : D)/ I P.T.O.
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(2) 5629/(Set : D)
(i) 597 #F4% 1 @ 35 T% TGS J97 81 J9% Fo7 1 3% & &1 [MRIFET 57 997 %
FIT oy

Questions from 1 to 35 are objective type questions. Each question is of 1
mark. Answer of these questions may be given as per instructions.

fewr : =it qglamedia ge % el ey gy -

Select the correct option of the following multiple choice questions :

1. TF FCCIMT a0 7 e grega dfas € ? 1
(A) 8 (B) 4
(C) 6 (D) 2
In a face centred unit cell (FCC) the number of Tetrahedral Voids :
(A) 8 (B) 4
€) 6 (D) 2

2. TF O MnO,> # Mn®* ¥ uaRd & & foT fbam B2 (F) @1 omasgswar afft 2 1
(A) 5F (B) 7F
(C) 2F (D) 4F

Number of Faraday (F) required to reduce 1 mole of MnO,* into Mn*" :

(A) 5F (B) 7F
(C) 2F (D) 4F
3. Ffaiaa v Reriss & sifwfsbar &t #ife s i - 1
K=1.6x10°Lmol"* S}
(A) = (B) u&H
(C) fadim (D) 9 | i Tl

Identify the order of reaction from the given rate constant :
K=1.6x10°Lmol"S™

(A) Zero (B) First

(C) Second (D) None of these

5629/(Set : D)/ I
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4. AL(SO,); & T foeme & forg ame &% T () © 1
(A) 3 (B) 2
€ 5 (D) 6
What is the value of Van't Hoff factor (7 for dilute solution of AL(SO,); ?
A) 3 B) 2
€ 5 (D) 6
5. fred s v st & ? 1
(A) H,Sc (B) H,O
(C) H,S (D) H,Te
In which Bond Angle is maximum ?
(A) H,Sc (B) H,O
(C) H,S (D) H,Te
6. AT T 1
(A) TR OREe (B) STHETH 7
(C) SferdiiehTT HishaT (D) STU=EH sk
Adsorption is :
(A) Surface phenomenon (B) Colligative property
(C) Oxidation process (D) Reduction process
7. N£*H gRNd [dgl B §E B 1
A) O B) 2
(C) 8 D) 4

Number of Unpaired Electrons in N##* are :

A) O (B) 2
C€) 8 (D) 4
5629/(Set : D)/ I P.T.O.
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8. Tpual Ty Ui waite® © ?

(A) HcCIo, (B) HcCIO
(C) HCIO, (D) HCIO,
Which is the strongest acid ?

(A) HcCIo, (B) HcCIO
(C) HCIO, (D) HCIO,

9. K,[PtCl,| ¥ Pt &l 3ifeRiiNoT STaeer ® :

(A) +6 (B) +2

(C) +4 (D) A

Oxidation number of Ptin K,[PtCl] is :

(A) +6 (B) +2

(C) +4 (D) Zero
10. = & | IEdl fofrs @ ¢

(A) NO, (B) CO,*

(C) OH~ (D) H,O

Which is Ambidentate Ligand ?

(A)  NO,y (B) CO;*

(C) OH~ (D) H,O

11. = 4 § Fras Fauis A 8 ?
(A) CH;Br (B) CH;I
(C) CHyF (D) CH,Cl
In the following which has Highest Boiling point ?
(A) CH;Br (B) CH;I
(C) CHyF (D) CH,Cl

5629/(Set : D)/ I
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12. cH,cl— BN o Na/CHOH o by 1
(A) CH,CH,CI (B) CH,CH,NH,
(C) CQHSCN (D) C3H8
cH,c1— KN, 5, Na/CHsOH  p pig.
(A) CH,CH,CI (B) CH,CH,NH,
(C) CHsCN (D) CsHg
13. AR [Crien)y]*" § Cr @I SUHEHANH TEIT © 1
a) 3 (B) 2
©) 6 (D) 4

What is the co-ordination number of Crin [Cr{en);]*" complex ?

(A) 3 (B) 2
C) 6 (D) 4

14. /=1 § yeoaq oFd ® ¢ 1
(A) CH,COOH (B) CH,CH,COOH
(C) CICH,COOH (D) FCH,COOH

Which is the strongest acid ?

(A) CH,COOH (B) CH,CH,COOH
(C) CICH,COOH (D) FCH,COOH

15. FiEd [NiCL]> & Jed e © ¢ 1
(A) 2.82 BM (B) 1.82 BM
(C) 5.92 BM (D) 1.41 BM

What is the magnetic moment of [NiCL,]*~ complex ?

(A) 2.82 BM (B) 1.82 BM
(C) 5.92 BM (D) 1.41 BM
5629/(Set : D)/ II P.T.O.
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16. C,H.NH, + CHCL, + KOH —2p, p & : 1
(A) C,HsCl (B) C,H;OH
(C) C,H;NC (D) C,H;NHCH,
C,H;NH, + CHCl; + KOH LP, Pis:
(A) C,HsCl (B) C,H;OH
(C) C,HsNC (D) C,H;NHCH,
17. IEEIRIEA HH-41 faere 8 ? 1
(a) faafr B B) frfE A
(C) faafm C (D) fqaf™ D
Riboflavin is :
(A) Vitamin B (B) Vitamin A
(C) Vitamin C (D) Vitamin D
18. 1= & %I9-41 FieEge 787 & ! 1
(A) (B) M
©) (D) g
Which is not a carbohydrate ?
(A) Glucose (B) Fructose
(C) Starch (D) Swucrose

@S - =i g9t @ oY @ -a i)/ a7 e -

Answer the following questions in one-two words/ sentences :

19. 3ANE oIF H §F I [y 1

Give one example of lonic Solid.

5629/(Set : D)/ I
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20.

21.

22.

23.

24.

25.

26.

fdr -

27.

28.

(7) 5629/(Set : D)

fafdre arciewar @ gaE fofau

Write units of specific conductance.

TR & AT IR A9 B T NG ST 2 7

What is effect of temperature on rate of a reaction ?

[P{NH,),NO,CI|SO, ® IUPAC M i
Write IUPAC name of [Pt{NH;),INO,CI| SO,.

gt ABRA % foU wh THEiS JHE [

Write chemical equation for a Wurtz reaction.

T BT B 9 BACSeREs Hl Bhal 9% Hited Gesl [Jaas ¥ &d & 7

What happens when formaldehyde reacted with conc. KOH solution ?

feepa Ueebieier fohdl hedl & °

What is Denatured alcohol ?

aq1 & facia & faafe & T i

Write the name of two vitamins which are soluble in fat.

gygeT Il @ R el & gd &1 -
Fill in the blanks by appropriate words :

............ 3 g =, e X a9 8 2

............ solids are electrical conductors, malleable and ductile.

Molal Elevation constant is also known as ............ .

5629/(Set : D)/ I
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29.

30.

31.

32.

33.

34.

35.

(8) 5629/(Set :

In SF, hybridisation of Sulphuris ............ .

AP K= Ae PYRT 4§ Eq ............ 2

In the equation K = Ae *¥®T Eqis ............ :

CH,CH,0H
B ITUPAC AH & ... .
CH,CH,0H

IUPAC name of 1S cevvvinnnnn. .

CH,CH,CHOT§ CH,COCH, & ............ JHY %l qHEEET &l
............ type of Isomerism present in CH;CH,CHO and CH;COCH;.

Primary, Secondary and Tertiary amines differentiated by ............ .

@ D & 1 & 8N a AT 8 oo, |

The disease caused by deficiency of Vitamin D is ............ .

5629/(Set : D)/ I
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